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mQp : ROEBYEREAMINT ., (Qp./1. 1) & LTHiKT 5,
U YA
G3, G3A, G AL
PHG2 G1, G1A PHG1 |5,G6,G6A| 67,67 G4
Mp : ZOEEEE—AL b =1.1F - 7P 345.9 186 293 499 567 691 [kN * m]
Qp_: ZE> M AW ) =Vm 464. 8 305 406 653 726 878 [kN]
Fu : PO oS 8RME (1. 15 L7V 400 400 400 400 400 400 | [kN/mnf
H : 5k 400 346 396 496 500 596 | [mm]
B : 275 Vg 200 174 199 199 200 199 [mm]
tw v E 8 6 7 9 10 10| [mm]
tf 1 750V 13 9 11 14 16 15 [mm]
r o 74 Ly R 16 14 16 20 20 22| [mm]
sc : ANT T (RWERHET 4 Ly FER) 35 35 35 35 35 35| [mm]
wS_: V=7 OMEYA X 6.0 6.0 6.0 8.0 9.0 9. 0| [mm]
n T IEUEEES, A= 2 2 2 2 2 2
wa : 7= 7 OMNEEOERD PR 4.2 4.2 4.2 5.6 6.3 6. 3| [mm]
Lw : k#ﬁﬁr?:ntfrﬁtif% (H-2tf-2sc—2wS) 292 246 292 382 380 478 [mm]
Lw—2H/3 : U= NTHIFTIZIEIT T 2#iHOE S 25 15 28 51 47 81 [mm]
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1. 790 Y0D% %Abﬁﬁﬁmﬁ fqu=tf XFu = 5200 3600 4400 5600 6400 6000 [N/mm]
2. U= 7 OVEHEN T % diT
%Ebﬁmw\iéu) 1 1 1 1 1 1
(R34 A : 513E) 1. 4wa - Fu
wq111=*444;7?;4447 = 1358 1358 1358 1811 2037 2037 | [N/mm]
(A9 A AW _wa + Fu
wqu2= J3 = 970 970 970 1293 1455 1455 [N/mm]
fPu : BT T 2V OVEEES| RN/ fPu=fqu X B= 1040 626 876 1114 1280 1194 [kN]
wPu B = 7 OIRPES | BRI )
wPu=min[ 2. 8-wa (Lw—2H/3) -Fu , tw(Lw—2H/3) -Fu]
V3
(PR#ET 1))« wPul=(2. 8 Xwa X (Lw-2H/3)Fu’) /4 3/1000 69 42 76 186 190 329/ [kN]
(A1 F7) - wPu2=tw (Lw-2H/3) X Fu’ /1000 81 37 78 185 187 323 [kN]
. wPu=min (wPul, wPu2) = 69 37 76 185 187 323 [kN]
- BFTR ) ORREt .
, Mp (F548) = 346 186 293 499 567 691
Mu=tPu (Hot )+ LW T 2H/3) - 412 215 348 570 653 764 [kN - m]
4 CHIH= 402 211 337 537 620 694|[kN * m]
= 10 4 11 33 33 71| (kN * m]
mMp=Mp/1. 1= 314 169 266 454 515 628| [kN * m]
1. 3mMp= 409 220 346 590 670 817|[kN « m]
< jMu > jMu < jMu > jMu > jMu > jMu
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J1-] J1-] J1-] J1-] J1-] J1-]
« BTl D okt Oo (F48) = 465 305 406 653 726 878
JjQu=wqu2 * Lw * n = 566 477 566 988 1106 1391 | [kN]
mQp=Qp/1. 1= 423 277 369 594 660 798
1. 3mQp= 549 360 480 772 858 1038
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